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)
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( ) (
) ( )
()
ALT ALT
()
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()

()
1 36
2.
( )
()
1. inclusion  exclusion ( )
2. inclusion  exclusion R (conscious memory)
A (automatic memory) ( )
()
1 36
2.
( )
()
1. inclusion  exclusion ( )
2. inclusion  exclusion R (conscious memory)
A (automatic memory) ( )
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()
3 36
4,
( )
()

3. inclusion  exclusion
4. inclusion exclusion
A (automatic memory) ( )

()
5 46
6.
( )
()
5. inclusion  exclusion
6. inclusion exclusion
A (automatic memory) ( )

R (conscious memory)

R (conscious memory)
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Al A2 A3
Milk bottle chicken soup red bean
hunt sheep turkey
Envelope picnic color paper
Light bulb garage guitar
street corner honeymoon pretend
vase green tea refrigerator
strawberry gold fish dentist
sweater pregnant blue sky
volleyball jog gloves
juice gene definition
eye glasses measure frog
hero fruit earthquake
statistics room cute
theory author factory
tomorrow danger newspaper
knowledge name data
university believe freedom
success school of course
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Bl B2 B3
grammar sleeping bag raincoat
lover door bell onion
beef north pole cookbook
school bus sofa pronounce
1.Q. finger nail opera
dictionary soap moonlight
wheelchair bookstore at home
imitate secretary oil paint
questionnaire tonight tiger
lucky furniture dinner
weekend apartment disappointed
headache fresh Africa
businessman diary church
airport birthday sky
Tokyo balance accident
agree hospital create
Kaohsiung telephone expert
century election woman
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Al (B1) |Al(Bl) |A2(B2) |A2(B2) |A3(B3) |A3(B3)
A2 (B2) |A3(B3) |Al(B1) |A3(B3) |Al(Bl) |A2(B2)
A3 (B3) |A2(B2) |A3(B3) |A1(B1) |A2(B2) |Al (Bl)
Al (B1) |Al(Bl) |A2(B2) |A2(B2) |A3(B3) |A3(B3)
A2 (B2) |A3(B3) |Al(B1) |A3(B3) |Al(Bl) |A2(B2)
A3 (B3) |A2(B2) |A3(B3) |A1(B1) |A2(B2) |Al(B1)
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study phase (18 x 3)

<: anl usion (9x3)

Excl usion (9x3)

nonstudy phase (18 x 3)

NN AN A

<: Inclusion (9x3)
(EXCl usion (9x3)
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ALT ALT

ALT ALT
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1.
exclusion 0.035 0.056 0.026 0.044
inclusion 0.177 0.139 0.216 0.067
2.

exclusion|inclusion|exclusion|inclusion|exclusion|inclusion|exclusion|inclusion

1 0 0 0| 0.278 0 0.222 0.019| 0.074
2 0] 0.056 0| 0.278 0.056| 0.278 0.019 0
3 0 0111 0| 0.389 0 0.111 0.037| 0.074
4 0] 0222 0.056| 0.111 0.056| 0.278 0.037 0.13
5 0] 0222 0.111) o0.111 0 0.333 0.037| 0.056
6 0] 0222 0.111) o0.111 0| 0.333 0.037| 0.056
7 0 0111 0| 0.167 0.111| 0.333 0.074| 0.056
8 0.056| 0.111 0| 0.167 0.056| 0.278 0.037| 0.056
9 0.056| 0.111 0.111| 0.222 0| 0.389 0.093| 0.093
10 0] 0278 0.056| 0.167 0| 0.222 0] 0.019
11 0] 0111 0.111| 0.167 0| 0.278 0.056| 0.093
12 0.056 0 0.111| 0.056 0| 0.167 0.019| 0.056
13 0.056| 0.056 0| 0.056 0.056| 0.333 0.037| 0.019
14 0.056| 0.111 0.056| 0.111 0 0.5 0.13| 0.056
15 0] 0222 0| 0.111 0 0.333 0.019| 0.056
16 0.056| 0.333 0.056| 0.111 0| 0.389 0.056| 0.056
17 0] 0.389 0.056| 0.111 0.111| 0.333 0.056| 0.093
18 0] 0.167 0.056| 0.056 0 0.222 0.019| 0.019
19 0] 0111 0| 0.278 0 0.111 0.037 0.13
20 0] 0222 0| 0.167 0 0 0.019| 0.019
21 0.056| 0.222 0.056| 0.278 0 o0.111 0.019| 0.056
22 0] 0111 0| 0.167 0.056| 0.167 0.037| 0.074
23 0.167| 0.222 0.111| 0.167 0| 0.167 0.111| 0.074
24 0] 0.167 0| 0.056 0 0.222 0.056| 0.019
25 0] 0278 0| 0.111 0 0.111 0.074| 0.074
26 0.111| 0.333 0.167| 0.111 0 0.111 0.019| 0.056
27 0] 0.389 0| 0.167 0 0.111 0.074| 0.037
28 0] 0.167 0| 0.056 0 0.111 0.037| 0.037
29 0.056| 0.111 0| 0.056 0 0.111 0] 0.074
30 0.222| 0.056 0.5 0 0.222| 0.056 0.037| 0.093
31 0] 0222 0 0 0| 0.278 0.037| 0.111
32 0.056| 0.111 0.111| 0.056 0.111 0.222 0.093| 0.037
33 0.056| 0.056 0| 0.056 0| 0.056 0.019| 0.259
34 0.056| 0.167 0.056| 0.167 0.111| 0.167 0.037| 0.093
35 0.111| 0.333 0.056| 0.111 0 0.111 0.056| 0.074
36 0.056| 0.278 0.056| 0.222 0 0.222 0.056| 0.056
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* General ANOVA & Trend Analysis Program *
* Vesion 5.0 *
* Hsue_Chich Chen & Chao-Ming Cheng *
* Department of Psychology *
* Catholic FuJen University & National Taiwan University *
* Oct 03 1998 *

B R R R R R R o R o R R A AR AR R R R R R AR AR AR R R R R R R R R A R AR R R R R R R R R R R AR AR R R R R R R R R R R R R R R R R R R e

General Information

Experimental Design - ABS

No. of Variables (Including Ss) 3

No. of Between-Ss Variables : 0

No. of Within-Ss Variables 12

Data File Name o expl.txt

Output Device o expl_output.txt

Within Subject Variable 1 : A

Within Subject Variable 2 : B

Subject Variable :

Levels of A - 4 ( , , , )
Levels of B : 2  (exclusion, inclusion)

Levels of S : 36

Significant criterion : 0.050000

No transformation !

-14-



2003/12/3

Cell Means & SD

Means of Al :

Al= 0.107[ 0.107] A2= 0.097[ 0.097]
A3= 0.121] 0.128] Ad= 0.056[ 0.039]
Means of Bj :
B1= 0.041[ 0.060] B2= 0.150[ 0.105]
Means of AiBj :
A1B1= 0.036[ 0.051] A1B2= 0.177[ 0.102]
A2B1= 0.056[ 0.089] A2B2= 0.139[ 0.085]
A3B1= 0.026[ 0.050] A3B2= 0.216[ 0.112]
A4B1= 0.044[ 0.029] A4B2= 0.068[ 0.044]
Summary Table of ANOVA
Source SS df MS F P
S 0.189 35 0.005
A 0.169 3 0.056 10.817  0.0000
AS 0.545 105 0.005
B 0.864 1 0.864 100.761  0.0000
BS 0.300 35 0.009
AB 0.281 3 0.094 15.895 0.0000
ABS 0.619 105 0.006
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Tukey Test for A.

* stand for difference between row-mean & column-mean
come up 0.05 significant level.

** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.005193

df(MsError) = 105

# of groups =4

cell in group =72

q(105,4).05 = 3.695000

q(105,4).01 = 4.522500

C(.05) = 0.031380

C(.01) = 0.038407

Label | Al A2 A3 Ad
Means | 0.107 0.097 0.121 0.056
Al | **
A2 | **
A3 | **
A4 |
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Trend Analysis for A.
Condition 1 : Value=1.000000 Mean=0.106556
Condition 2 : Value=2.000000 Mean=0.097361
Condition 3 : Value=3.000000 Mean=0.121153
Condition 4 : Value=4.000000 Mean=0.056042

Linear Contrast:
C[1]= -1.50000
C[2]= -0.50000
C[3]= 0.50000
C[4]= 1.50000

Quadratic Contrast:
C[1]= 1.00000
C[2]= -1.00000
C[3]= -1.00000
C[4]= 1.00000

Cubic Contrast:
C[1]= -0.30000

C[2]= 0.90000

C[3]= -0.90000

C[4]= 0.30000

Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.059 1 0.059 11.314 0.0011
Quadratic Trend 0.056 1 0.056 10.838 0.0014
Cubic Trend 0.053 1 0.053 10.300 0.0018
ErrTerm 0.545 105 0.005
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Simple Simple-Main and Interaction Effects of AB.

55.161
19.067
98.728

1.475

0.0000
0.0000
0.0000
0.2278

Source SS df MS

Error for B[A(1)] 0.919 140 0.007
B[A(D)] 0.362 0.362
B[A(2)] 0.125 0.125
B[A(3)] 0.648 0.648
B[A(4)] 0.010 0.010

Error for A[B(J)] 1.164 210 0.006
A[B(D] 0.017 3 0.006
A[B(2)] 0.433 3 0.144

Tukey Test for A[B(2)]-

* stand for difference between row-mean & column-mean
come up 0.05 significant level.

** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.005544
df(MsError) = 210

# of groups =4

cell in group = 36
q(210,4).05 = 3.630000
q(210,4).01 = 4.400000
C(.05) = 0.045046
C(.01) = 0.054601
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Label |
Means |

A1B2 A2B2
0.177 0.139

A3B2
0.216

A4B2
0.068

I
I
I *%*
I

Tukey Test for A[B(2)].

Condition 1 :
Condition 2 :
Condition 3 :
Condition 4 :

Value=1.000000
Value=2.000000
Value=3.000000
Value=4.000000

Linear Contrast:

C[1]= -1.50000
C[2]= -0.50000
C[3]= 0.50000
C[4]= 1.50000
Quadratic Contrast:
C[1]= 1.00000
C[2]= -1.00000
C[3]= -1.00000
C[4]= 1.00000
Cubic Contrast:
C[1]= -0.30000
C[2]= 0.90000
C[3]= -0.90000
C[4]= 0.30000

Mean=0.177472
Mean=0.139056
Mean=0.216028
Mean=0.067639
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Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.115 1 0.115 20.706  0.0000
Quadratic Trend 0.109 1 0.109 19.634 0.0000
Cubic Trend 0.209 1 0.209 37.701  0.0000
ErrTerm 1.164 210 0.006
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Estimate of R and A

1.

Estimate of R | 0.142 0.083 0.19
Estimate of A | 0.039 0.053 0.03
R|A|R|A|R|A
1 0 0[0.278 0(0.222| 0
2| 0.056 0[0.278 0(0.222/0.071
3/0.111 0] 0.389 0(0.111] 0
4] 0.222 0] 0.056/ 0.059|0.222(0.071
5| 0.222 0 0/0.111/0.333] 0
6| 0.222 0 0]0.111/0.333] 0
7/0.111 0] 0.167 0(0.222]0.143
8| 0.056| 0.059| 0.167 0(0.222/0.071
9/ 0.056/ 0.059| 0.111] 0.125|0.389| 0
10( 0.278 0[0.111| 0.063/0.222| 0
11{0.111 0] 0.056 0.118/0.278| 0
12| -0.06| 0.053| -0.06| 0.105|0.167| 0
13 0] 0.056| 0.056 0(0.278/0.077
14/ 0.056| 0.059| 0.056/ 0.059| 0.5 0
15| 0.222 0[0.111 0(0.333) 0
16 0.278 0.077| 0.056| 0.059/0.389| 0
17/ 0.389 0] 0.056/ 0.059|0.222|0.143
18 0.167 0 0]0.056(0.222| 0
19(0.111 0[0.278 0(0.111] 0
20( 0.222 0] 0.167 of 0 0
21/ 0.167] 0.067| 0.222| 0.071|0.111] 0
22/ 0.111 0] 0.167 0(0.111]0.063
23/ 0.056( 0.176| 0.056| 0.118(0.167| 0
24/ 0.167 0] 0.056 0(0.222] 0
25/ 0.278 0] 0.111 0(0.111] 0
26/ 0.222] 0.143| -0.06| 0.158(0.111] 0
27/ 0.389 0] 0.167 0(0.111] 0
28/ 0.167 0] 0.056 0(0.111] 0
29| 0.056 0.059| 0.056 0(0.111] 0
30| -0.17| 0.19] -0.5/0.333]-0.17| 0.19
31| 0.222 0 0 0(0.278] 0
32| 0.056| 0.059| -0.06| 0.105[0.111|0.125
33 0] 0.056/ 0.056 00.056| 0
34/ 0.111| 0.063| 0.111| 0.063|0.056|0.118
35| 0.222| 0.143[ 0.056| 0.059(0.111| 0
36| 0.222| 0.071| 0.167| 0.0670.222| 0
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* General ANOVA & Trend Analysis Program *
* Vesion 5.0 *
* Hsue_Chich Chen & Chao-Ming Cheng *
* Department of Psychology *
* Catholic FuJen University & National Taiwan University *
* Oct 03 1998 *

B R R R R R R o R o R R A AR AR R R R R R AR AR AR R R R R R R R R A R AR R R R R R R R R R R AR AR R R R R R R R R R R R R R R R R R R e

General Information

Experimental Design - ABS

No. of Variables (Including Ss) 3

No. of Between-Ss Variables : 0

No. of Within-Ss Variables 12

Data File Name : explra.txt

Output Device : explra o.txt

Within Subject Variable 1 : A ( , , )

Within Subject Variable 2 : B  (estimate of R, estimate of A)
Subject Variable :

Levels of A : 3

Levels of B : 2

Levels of S : 36

Significant criterion : 0.050000

No transformation !
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Cell Means & SD
Means of Al :
Al= 0.090[ 0.104] A2= 0.068[ 0.111]
A3= 0.110[ 0.124]
Means of Bj :

B1= 0.138[ 0.134] B2= 0.040[ 0.059]
Means of AiBj :
A1B1= 0.142[ 0.117] A1B2= 0.039[ 0.053]
A2B1= 0.084[ 0.140] A2B2= 0.053[ 0.067]
A3B1= 0.190[ 0.122] A3B2= 0.030[ 0.053]

Summary Table of ANOVA

Source SS df MS F P
S 0.222 35 0.006

0.063 2 0.031 5.400 0.0066
AS 0.405 70 0.006
B 0.519 1 0.519 21.517  0.0000
BS 0.844 35 0.024
AB 0.151 2 0.076 8.399 0.0005
ABS 0.629 70 0.009

-23-



2003/12/3

Tukey Test for A.

* stand for difference between row-mean & column-mean
come up 0.05 significant level.

** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.005788
df(MsError) =70
# of groups =3
cell in group =72
q(70,3).05 = 3.393333
q(70,3).01 = 4.266667
C(.05) = 0.030424
C(.01) = 0.038255
Label | Al A2 A3
Means | 0.090 0.068 0.110
Al |
A2 |
A3 | **
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Trend Analysis for A.
Condition 1 : Value=1.000000 Mean=0.090319
Condition 2 : Value=2.000000 Mean=0.068125
Condition 3 : Value=3.000000 Mean=0.109764

Linear Contrast:
C[1]= -1.00000
C[2]= 0.00000
C[3]= 1.00000

Quadratic Contrast:
C[1]= 0.33333
C[2]= -0.66667
C[3]= 0.33333

Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.014 1 0.014 2.352 0.1396
Quadratic Trend 0.049 1 0.049 8.448 0.0049
ErrTerm 0.405 70 0.006
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Simple Simple-Main and Interaction Effects of AB.

Source SS df MS F P
Error for B[A(1)] 1.474 105 0.014
B[A(D)] 0.193 1 0.193 13.714 0.0003
B[A(2)] 0.017 1 0.017 1.213 0.2738
B[A(3)] 0.461 1 0.461 32.816 0.0000
Error for A[B(J)] 1.035 140 0.007
A[B(D] 0.204 2 0.102 13.795 0.0000
A[B(2)] 0.010 2 0.005 0.654 0.5217

Tukey Test for A[B(1)]-

* stand for difference between row-mean & column-mean
come up 0.05 significant level.

** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.007390
df(MsError) = 140

# of groups =3

cell in group = 36
q(140,3).05 = 3.360000
q(140,3).01 = 4.200000
C(.05) = 0.048142
C(.01) = 0.060177
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Label | A1B1 A2B1 A3B1
Means | 0.142 0.084 0.190
A1B1 | *
A2B1 |
A3B1 | o

Tukey Test for A[B(1)]-
Condition 1 : Value=1.000000 Mean=0.142028
Condition 2 : Value=2.000000 Mean=0.083500
Condition 3 : Value=3.000000 Mean=0.189750

Linear Contrast:
C[1]= -1.00000
C[2]= 0.00000
C[3]= 1.00000

Quadratic Contrast:
C[1]= 0.33333
C[2]= -0.66667
C[3]= 0.33333
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Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.041 1 0.041 5.547 0.0198
Quadratic Trend 0.163 1 0.163 22.044  0.0000
ErrTerm 1.035 140 0.007
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1.
exclusion 0.052 0.071 0.048 0.057
inclusion 0.196 0.170 0.258 0.080
2.

exclusion | inclusion | exclusion | inclusion | exclusion | inclusion | exclusion | inclusion
1 0.222 0.111 0.111 0.167 0.111 0.056 0.019 0.259
2 0.000 0.222 0.000 0.444 0.000 0.333 0.074 0.037
3 0.056 0.167 0.167 0.167 0.056 0.278 0.074 0.037
4 0.000 0.278 0.000 0.333 0.056 0.389 0.019 0.056
5 0.056 0.111 0.056 0.111 0.111 0.167 0.167 0.019
6 0.000 0.167 0.000 0.167 0.000 0.444 0.037 0.130
7 0.056 0.278 0.000 0.167 0.167 0.222 0.056 0.056
8 0.056 0.222 0.056 0.389 0.000 0.333 0.037 0.037
9 0.056 0.167 0.000 0.222 0.000 0.389 0.037 0.000
10 0.000 0.278 0.056 0.111 0.000 0.278 0.093 0.130
11 0.056 0.111 0.056 0.167 0.000 0.278 0.037 0.093
12 0.000 0.222 0.222 0.056 0.056 0.333 0.093 0.019
13 0.000 0.389 0.000 0.222 0.000 0.389 0.093 0.056
14 0.056 0.111 0.056 0.111 0.222 0.278 0.000 0.037
15 0.167 0.222 0.167 0.056 0.111 0.111 0.056 0.056
16 0.000 0.333 0.056 0.056 0.000 0.333 0.130 0.111
17 0.000 0.278 0.111 0.056 0.167 0.167 0.074 0.093
18 0.056 0.111 0.111 0.000 0.167 0.111 0.037 0.130
19 0.111 0.167 0.167 0.389 0.056 0.333 0.037 0.019
20 0.000 0.222 0.000 0.222 0.000 0.389 0.019 0.074
21 0.056 0.111 0.000 0.389 0.000 0.444 0.093 0.037
22 0.056 0.111 0.000 0.111 0.000 0.167 0.000 0.111
23 0.000 0.111 0.167 0.278 0.000 0.444 0.037 0.111
24 0.000 0.111 0.056 0.111 0.056 0.167 0.074 0.093
25 0.056 0.222 0.056 0.056 0.000 0.222 0.093 0.019
26 0.056 0.167 0.167 0.111 0.056 0.389 0.037 0.056
27 0.000 0.333 0.056 0.167 0.000 0.444 0.019 0.056
28 0.056 0.222 0.222 0.056 0.056 0.000 0.093 0.074
29 0.056 0.167 0.111 0.056 0.000 0.111 0.019 0.093
30 0.167 0.333 0.056 0.111 0.000 0.278 0.037 0.056
31 0.000 0.222 0.111 0.222 0.000 0.167 0.056 0.093
32 0.111 0.111 0.000 0.167 0.056 0.167 0.074 0.278
33 0.111 0.000 0.111 0.056 0.056 0.000 0.056 0.241
34 0.000 0.278 0.056 0.278 0.111 0.278 0.019 0.056
35 0.056 0.111 0.000 0.278 0.000 0.167 0.056 0.019
36 0.167 0.278 0.000 0.056 0.056 0.222 0.111 0.056
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* General ANOVA & Trend Analysis Program *
* Vesion 5.0 *
* Hsue_Chich Chen & Chao-Ming Cheng *
* Department of Psychology *
* Catholic FuJen University & National Taiwan University *
* Oct 03 1998 *

B R R R R R o o o R R R AR AR R R R R R R R R R R AR R R R R R AR R R R R R R R R R R R AR AR R R R R R R A R R R R R R R R R R R AR R R X

General Information

Experimental Design - ABS

No. of Variables (Including Ss) -3

No. of Between-Ss Variables -0

No. of Within-Ss Variables 12

Data File Name I exp2.txt

Output Device I exp2_output.txt

Within Subject Variable 1 : A

Within Subject Variable 2 : B

Subject Variable :

Levels of A : 4 ( , , , )
Levels of B : 2 (exclusion, inclusion)

Levels of S : 36

Significant criterion : 0.050000

No transformation !
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Cell Means & SD

Means of Al :

Al= 0.124[ 0.102] A2= 0.121] 0.106]
A3= 0.153[ 0.143] Ad= 0.069[ 0.053]
Means of Bj :
B1= 0.057[ 0.057] B2= 0.176[ 0.118]
Means of AiBj :
A1B1= 0.053[ 0.057] A1B2= 0.196[ 0.085]
A2B1= 0.071[ 0.068] A2B2= 0.170[ 0.113]
A3B1= 0.048[ 0.060] A3B2= 0.258[ 0.124]
A4B1= 0.057[ 0.037] A4B2= 0.081[ 0.064]
Summary Table of ANOVA
Source SS df MS F P
S 0.136 35 0.004
0.264 3 0.088 16.434 0.0000
AS 0.562 105 0.005
B 1.015 1 1.015 80.391 0.0000
BS 0.442 35 0.013
AB 0.331 3 0.110 15.517  0.0000
ABS 0.748 105 0.007
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Tukey Test for A.

* stand for difference between row-mean & column-mean
come up 0.05 significant level.

** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.005351

df(MsError) = 105

# of groups =4

cell in group =72

q(105,4).05 = 3.695000

q(105,4).01 = 4.522500

C(.05) = 0.031853

C(.01) = 0.038986

Label | Al A2 A3 Ad
Means | 0.124 0.121 0.153 0.069
Al | **
A2 | **
A3 | * **
A4 |
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Trend Analysis for A.
Condition 1 : Value=1.000000 Mean=0.124319
Condition 2 : Value=2.000000 Mean=0.120514
Condition 3 : Value=3.000000 Mean=0.152847
Condition 4 : Value=4.000000 Mean=0.068903

Linear Contrast:
C[1]= -1.50000
C[2]= -0.50000
C[3]= 0.50000
C[4]= 1.50000

Quadratic Contrast:
C[1]= 1.00000
C[2]= -1.00000
C[3]= -1.00000
C[4]= 1.00000

Cubic Contrast:
C[1]= -0.30000

C[2]= 0.90000

C[3]= -0.90000

C[4]= 0.30000

Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.065 1 0.065 12.066  0.0007
Quadratic Trend 0.116 1 0.116 21.605 0.0000
Cubic Trend 0.084 1 0.084 15.630 0.0001
ErrTerm 0.562 105 0.005

-34-



2003/12/3

Simple Simple-Main and Interaction Effects of AB.

43.500
20.656
93.190

1.140

0.0000
0.0000
0.0000
0.2879

Source SS df MS

Error for B[A(1)] 1.190 140 0.008
B[A(D)] 0.370 0.370
B[A(2)] 0.176 0.176
B[A(3)] 0.792 0.792
B[A(4)] 0.010 1 0.010

Error for A[B(J)] 1.309 210 0.006
A[B(D] 0.011 3 0.004
A[B(2)] 0.584 3 0.195

Tukey Test for A[B(2)]-

* stand for difference between row-mean & column-mean
come up 0.05 significant level.

** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.006236
df(MsError) = 210

# of groups =4

cell in group = 36
q(210,4).05 = 3.630000
q(210,4).01 = 4.400000
C(.05) = 0.047774
C(.01) = 0.057908
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Label |
Means |

A2B2
0.170

A3B2
0.258

A4B2
0.081

** **

Tukey Test for A[B(2)].

Condition 1 :
Condition 2 :
Condition 3 :
Condition 4 :

Value=1.000000
Value=2.000000
Value=3.000000
Value=4.000000

Linear Contrast:

C[1]= -1.50000
C[2]= -0.50000
C[3]= 0.50000
C[4]= 1.50000
Quadratic Contrast:
C[1]= 1.00000
C[2]= -1.00000
C[3]= -1.00000
C[4]= 1.00000
Cubic Contrast:
C[1]= -0.30000
C[2]= 0.90000
C[3]= -0.90000
C[4]= 0.30000

Mean=0.195972
Mean=0.169889
Mean=0.257722
Mean=0.080500

-36-



2003/12/3

Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.120 1 0.120 19.302 0.0000
Quadratic Trend 0.206 1 0.206 32.970 0.0000
Cubic Trend 0.259 1 0.259 41.458 0.0000
ErrTerm 1.309 210 0.006
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Estimate of R and A

1.
Estimate of R | 0.144 0.099 0.210
Estimate of A | 0.076 0.072 0.053
2.
R A R A R A

1 -0.111 0.333 0.056 0.118 -0.056 0.105

2 0.222 0.000 0.444 0.000 0.333 0.000

3 0.111 0.071 0.000 0.167 0.222 0.071

4 0.278 0.000 0.333 0.000 0.333 0.083

5 0.056 0.067 0.056 0.059 0.056 0.118

6 0.167 0.000 0.167 0.000 0.444 0.000

7 0.222 0.083 0.167 0.000 0.056 0.176

8 0.167 0.077 0.333 0.083 0.333 0.000

9 0.111 0.071 0.222 0.000 0.389 0.000
10 0.278 0.000 0.056 0.059 0.278 0.000
11 0.056 0.067 0.111 0.063 0.278 0.000
12 0.222 0.000 -0.167 0.190 0.278 0.077
13 0.389 0.000 0.222 0.000 0.389 0.000
14 0.056 0.067 0.056 0.059 0.056 0.235
15 0.056 0.273 -0.111 0.150 0.000 0.111
16 0.333 0.000 0.000 0.056 0.333 0.000
17 0.278 0.000 -0.056 0.105 0.000 0.167
18 0.056 0.067 -0.111 0.100 -0.056 0.158
19 0.056 0.154 0.222 0.214 0.278 0.077
20 0.222 0.000 0.222 0.000 0.389 0.000
21 0.056 0.067 0.389 0.000 0.444 0.000
22 0.056 0.067 0.111 0.000 0.167 0.000
23 0.111 0.000 0.111 0.188 0.444 0.000
24 0.111 0.000 0.056 0.059 0.111 0.063
25 0.167 0.077 0.000 0.056 0.222 0.000
26 0.111 0.071 -0.056 0.158 0.333 0.083
27 0.333 0.000 0.111 0.063 0.444 0.000
28 0.167 0.077 -0.167 0.190 -0.056 0.053
29 0.111 0.071 -0.056 0.105 0.111 0.000
30 0.167 0.333 0.056 0.059 0.278 0.000
31 0.222 0.000 0.111 0.125 0.167 0.000
32 0.000 0.143 0.167 0.000 0.111 0.063
33 -0.111 0.125 -0.056 0.105 -0.056 0.053
34 0.278 0.000 0.222 0.071 0.167 0.133
35 0.056 0.067 0.278 0.000 0.167 0.000
36 0.111 0.300 0.056 0.000 0.167 0.067

-38-



2003/12/3

R R R R R R R R R R R R R R R R R A AR AR R R R R R AR AR AR R R R R R R R R R AR R R R R R R R R R R R R AR AR R R R R R R A R R R R R R R R R R R e e

* General ANOVA & Trend Analysis Program *
* Vesion 5.0 *
* Hsue_Chich Chen & Chao-Ming Cheng *
* Department of Psychology *
* Catholic FuJen University & National Taiwan University *
* Oct 03 1998 *

B R R R R R R o R o R R A AR AR R R R R R AR AR AR R R R R R R R R A R AR R R R R R R R R R R AR AR R R R R R R R R R R R R R R R R R R e

General Information

Experimental Design - ABS

No. of Variables (Including Ss) 3

No. of Between-Ss Variables : 0

No. of Within-Ss Variables 12

Data File Name I exp2ra.txt
Output Device I exp2ra_o.txt
Within Subject Variable 1 A

Within Subject Variable 2 B

Subject Variable S

Levels of A : 3 ( , , )
Levels of B : 2 (estimate of R, estimate of A)
Levels of S : 36

Significant criterion : 0.050000

No transformation !

-39-



2003/12/3

Cell Means & SD
Means of Al :
Al= 0.110[ 0.109] A2= 0.086[ 0.116]
A3= 0.131[ 0.144]
Means of Bj :

B1= 0.151[ 0.149] B2= 0.067[ 0.076]
Means of AiBj :
A1B1= 0.144[ 0.114] A1B2= 0.076[ 0.094]
A2B1= 0.099[ 0.149] A2B2= 0.072[ 0.066]
A3B1= 0.210[ 0.158] A3B2= 0.053[ 0.063]

Summary Table of ANOVA

Source SS df MS F P

S 0.363 35 0.010

A 0.075 2 0.038 7.075 0.0016
AS 0.372 70 0.005

B 0.380 1 0.380 11.071 0.0021
BS 1.201 35 0.034

AB 0.161 2 0.080 6.682 0.0022
ABS 0.843 70 0.012
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Tukey Test for A.

* stand for difference between row-mean & column-mean
come up 0.05 significant level.

** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.005318
df(MsError) =70
# of groups =3
cell in group =72
q(70,3).05 = 3.393333
q(70,3).01 = 4.266667
C(.05) = 0.029164
C(.01) = 0.036670
Label | Al A2 A3
Means | 0.110 0.086 0.131
Al |
A2 |
A3 | **
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Trend Analysis for A.
Condition 1 : Value=1.000000 Mean=0.109708
Condition 2 : Value=2.000000 Mean=0.085514
Condition 3 : Value=3.000000 Mean=0.131208

Linear Contrast:
C[1]= -1.00000
C[2]= 0.00000
C[3]= 1.00000

Quadratic Contrast:
C[1]= 0.33333
C[2]= -0.66667
C[3]= 0.33333

Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.017 1 0.017 3.129 0.0805
Quadratic Trend 0.059 1 0.059 11.021 0.0014
ErrTerm 0.372 70 0.005
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Simple Simple-Main and Interaction Effects of AB.

Source SS df MS F P
Error for B[A(1)] 2.043 105 0.019
B[A(D)] 0.083 1 0.083 4.260 0.0413
B[A(2)] 0.013 1 0.013 0.648 0.4226
B[A(3)] 0.445 1 0.445 22.874 0.0000
Error for A[B(J)] 1.215 140 0.009
A[B(D] 0.225 2 0.112 12.956 0.0000
A[B(2)] 0.011 2 0.006 0.649 0.5245

Tukey Test for A[B(1)]-

* stand for difference between row-mean & column-mean
come up 0.05 significant level.

** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.008677
df(MsError) = 140

# of groups =3

cell in group = 36
q(140,3).05 = 3.360000
q(140,3).01 = 4.200000
C(.05) = 0.052165
C(.01) = 0.065206
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Label | A1B1 A2B1 A3B1
Means | 0.144 0.099 0.210
A1B1 |
A2B1 |
A3 B 1 I ** **

Tukey Test for A[B(1)]-
Condition 1 : Value=1.000000 Mean=0.143639
Condition 2 : Value=2.000000 Mean=0.098750
Condition 3 : Value=3.000000 Mean=0.209833

Linear Contrast:
C[1]= -1.00000
C[2]= 0.00000
C[3]= 1.00000

Quadratic Contrast:
C[1]= 0.33333
C[2]= -0.66667
C[3]= 0.33333
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Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.079 1 0.079 9.089 0.0031
Quadratic Trend 0.146 1 0.146 16.822 0.0001
ErrTerm 1.215 140 0.009
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1.
exclusion 0.04 0.07 0.05 0.06
inclusion 0.22 0.17 0.24 0.07
2.
exclusion | inclusion | exclusion | inclusion | exclusion | inclusion | exclusion | inclusion

1 0.06 0.17 0.06 0.17 0.06 0.28 0.04 0.04
2 0.06 0.17 0.11 0.11 0.11 0.22 0.11 0.11
3 0.06 0.17 0.17 0.28 0.11 0.17 0.09 0.04
4 0 0.17 0.06 0.17 0 0.28 0.15 0.09
5 0.22 0.22 0.11 0.22 0.11 0.33 0.13 0.09
6 0.06 0.06 0.11 0.28 0 0.22 0.06 0.06
7 0 0.28 0.06 0.39 0 0.33 0.07 0.07
8 0 0.33 0 0.28 0 0.28 0.04 0.04
9 0 0.17 0 0.22 0.06 0.39 0.04 0.04
10 0 0.06 0 0.06 0 0.11 0.07 0.04
11 0 0.17 0.06 0.11 0.06 0.22 0.09 0.04
12 0.11 0.06 0.11 0.17 0.06 0.33 0.04 0.06
13 0 0.44 0 0.22 0 0.39 0.02 0.09
14 0.11 0.22 0.22 0.11 0.28 0.28 0.07 0.04
15 0 0.22 0.11 0.17 0.11 0.33 0.06 0.06
16 0 0.39 0 0.22 0 0.17 0.11 0.06
17 0 0.39 0.11 0 0 0.22 0.09 0.07
18 0 0.28 0 0.06 0 0.22 0.07 0.13
19 0.06 0.22 0 0.22 0 0.22 0.07 0.04
20 0 0.28 0.06 0.33 0 0.39 0.09 0.07
21 0 0.28 0.06 0.33 0 0.28 0.04 0.11
22 0.06 0.33 0.17 0.17 0 0.17 0.07 0.13
23 0.06 0.17 0 0.06 0 0.11 0.11 0.07
24 0.06 0.11 0.06 0.06 0.11 0.06 0.04 0.15
25 0.06 0.28 0.06 0.22 0.06 0.28 0.06 0.04
26 0.06 0.22 0 0.17 0 0.22 0.02 0.06
27 0 0.22 0.22 0.17 0.06 0.5 0.04 0.07
28 0.11 0.11 0.11 0 0.06 0.22 0.07 0.11
29 0 0.17 0.06 0.06 0 0.33 0.07 0.13
30 0.06 0.33 0.06 0.06 0.06 0.17 0.04 0.17
31 0 0.28 0.11 0.33 0 0.17 0.04 0.04
32 0.22 0.11 0.06 0.06 0.22 0.06 0.02 0.02
33 0.06 0.22 0 0.22 0.06 0.17 0.07 0.02
34 0.06 0.17 0.11 0.22 0.06 0.33 0.04 0.13
35 0.06 0.22 0.11 0 0.06 0.17 0 0.07
36 0 0.11 0.11 0.17 0.11 0.11 0.07 0.06

-47 -




2003/12/3

R R R R R R R R R R R R R R R R R A AR AR R R R R R AR AR AR R R R R R R R R R AR R R R R R R R R R R R R AR AR R R R R R R A R R R R R R R R R R R e e

* General ANOVA & Trend Analysis Program *
* Vesion 5.0 *
* Hsue_Chich Chen & Chao-Ming Cheng *
* Department of Psychology *
* Catholic FuJen University & National Taiwan University *
* Oct 03 1998 *
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General Information

Experimental Design - ABS

No. of Variables (Including Ss) 3

No. of Between-Ss Variables : 0

No. of Within-Ss Variables 12

Data File Name I exp3.txt

Output Device I exp3_output.txt

Within Subject Variable 1 : A

Within Subject Variable 2 : B

Subject Variable :

Levels of A - 4 ( , , , )
Levels of B : 2 (Exclusion, inclusion)

Levels of S : 36

Significant criterion : 0.050000

No transformation !
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Cell Means & SD

Means of Al :

Al= 0.130[ 0.116] A2= 0.120[ 0.097]
A3= 0.146[ 0.127] Ad= 0.069[ 0.036]
Means of Bj :
B1= 0.057[ 0.056] B2= 0.175[ 0.109]
Means of AiBj :
A1B1= 0.043[ 0.056] A1B2= 0.216[ 0.094]
A2B1= 0.073[ 0.061] A2B2= 0.168[ 0.102]
A3B1= 0.050[ 0.064] A3B2= 0.242[ 0.099]
A4B1= 0.064[ 0.033] A4B2= 0.073[ 0.039]
Summary Table of ANOVA
Source SS df MS F P
S 0.222 35 0.006
0.240 3 0.080 19.136  0.0000
AS 0.439 105 0.004
B 0.994 1 0.994 89.671 0.0000
BS 0.388 35 0.011
AB 0.378 3 0.126 27.498 0.0000
ABS 0.481 105 0.005
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Tukey Test for A.

* stand for difference between row-mean & column-mean
come up 0.05 significant level.

** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.004178

df(MsError) = 105

# of groups =4

cell in group =72

q(105,4).05 = 3.695000

q(105,4).01 = 4.522500

C(.05) = 0.028147

C(.01) = 0.034451

Label | Al A2 A3 Ad
Means | 0.130 0.120 0.146 0.069
Al | **
A2 | **
A3 | **
A4 |
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Trend Analysis for A.
Condition 1 : Value=1.000000 Mean=0.129736
Condition 2 : Value=2.000000 Mean=0.120472
Condition 3 : Value=3.000000 Mean=0.145903
Condition 4 : Value=4.000000 Mean=0.068792

Linear Contrast:
C[1]= -1.50000
C[2]= -0.50000
C[3]= 0.50000
C[4]= 1.50000

Quadratic Contrast:
C[1]= 1.00000
C[2]= -1.00000
C[3]= -1.00000
C[4]= 1.00000

Cubic Contrast:
C[1]= -0.30000

C[2]= 0.90000

C[3]= -0.90000

C[4]= 0.30000

Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.089 1 0.089 21.348 0.0000
Quadratic Trend 0.083 1 0.083 19.832  0.0000
Cubic Trend 0.068 1 0.068 16.228 0.0001
ErrTerm 0.439 105 0.004
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Simple Simple-Main and Interaction Effects of AB.

86.490
26.525
107.738
0.225

1.480

0.0000
0.0000
0.0000
0.6362

Source SS df MS

Error for B[A(1)] 0.869 140 0.006
B[A(D)] 0.537 0.537
B[A(2)] 0.165 0.165
B[A(3)] 0.669 0.669
B[A(4)] 0.001 0.001

Error for A[B(J)] 0.920 210 0.004
A[B(D] 0.019 3 0.006
A[B(2)] 0.599 3 0.200

45.542

Tukey Test for A[B(2)]-

* stand for difference between row-mean & column-mean
come up 0.05 significant level.

** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.004382
df(MsError) = 210

# of groups =4

cell in group = 36
q(210,4).05 = 3.630000
q(210,4).01 = 4.400000
C(.05) = 0.040048
C(.01) = 0.048542
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Label | A1B2 A2B2 A3B2 A4B2

Means | 0.216 0.168 0.242 0.073
A1B2 | * o
A2B2 | o
A3B2 | o o
A4B2 |

Tukey Test for A[B(2)].

Condition 1 :
Condition 2 :
Condition 3 :
Condition 4 :

Value=1.000000
Value=2.000000
Value=3.000000
Value=4.000000

Linear Contrast:

C[1]= -1.50000
C[2]= -0.50000
C[3]= 0.50000
C[4]= 1.50000
Quadratic Contrast:
C[1]= 1.00000
C[2]= -1.00000
C[3]= -1.00000
C[4]= 1.00000
Cubic Contrast:
C[1]= -0.30000
C[2]= 0.90000
C[3]= -0.90000
C[4]= 0.30000

Mean=0.216111
Mean=0.168306
Mean=0.242306
Mean=0.073194
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Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.227 1 0.227 51.698 0.0000
Quadratic Trend 0.132 1 0.132 30.225 0.0000
Cubic Trend 0.240 1 0.240 54.704  0.0000
ErrTerm 0.920 210 0.004
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Estimate of R and A

1.
Estimate of R | 0.173 0.096 0.193
Estimate of A | 0.047 0.077 0.056
2.
R A R

1 0.111 0.063 0.111 0.063 0.222 0.071

2 0.111 0.063 0.000 0.111 0.111 0.125

3 0.111 0.063 0.111 0.188 0.056 0.118

4 0.167 0.000 0.111 0.063 0.278 0.000

5 0.000 0.222 0.111 0.125 0.222 0.143

6 0.000 0.056 0.167 0.133 0.222 0.000

7 0.278 0.000 0.333 0.083 0.333 0.000

8 0.333 0.000 0.278 0.000 0.278 0.000

9 0.167 0.000 0.222 0.000 0.333 0.083
10 0.056 0.000 0.056 0.000 0.111 0.000
11 0.167 0.000 0.056 0.059 0.167 0.067
12 -0.056 0.105 0.056 0.118 0.278 0.077
13 0.444 0.000 0.222 0.000 0.389 0.000
14 0.111 0.125 -0.111 0.200 0.000 0.278
15 0.222 0.000 0.056 0.118 0.222 0.143
16 0.389 0.000 0.222 0.000 0.167 0.000
17 0.389 0.000 -0.111 0.100 0.222 0.000
18 0.278 0.000 0.056 0.000 0.222 0.000
19 0.167 0.067 0.222 0.000 0.222 0.000
20 0.278 0.000 0.278 0.077 0.389 0.000
21 0.278 0.000 0.278 0.077 0.278 0.000
22 0.278 0.077 0.000 0.167 0.167 0.000
23 0.111 0.063 0.056 0.000 0.111 0.000
24 0.056 0.059 0.000 0.056 -0.056 0.105
25 0.222 0.071 0.167 0.067 0.222 0.071
26 0.167 0.067 0.167 0.000 0.222 0.000
27 0.222 0.000 -0.056 0.211 0.444 0.100
28 0.000 0.111 -0.111 0.100 0.167 0.067
29 0.167 0.000 0.000 0.056 0.333 0.000
30 0.278 0.077 0.000 0.056 0.111 0.063
31 0.278 0.000 0.222 0.143 0.167 0.000
32 -0.111 0.200 0.000 0.056 -0.167 0.190
33 0.167 0.067 0.222 0.000 0.111 0.063
34 0.111 0.063 0.111 0.125 0.278 0.077
35 0.167 0.067 -0.111 0.100 0.111 0.063
36 0.111 0.000 0.056 0.118 0.000 0.111
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* General ANOVA & Trend Analysis Program *
* Vesion 5.0 *
* Hsue_Chich Chen & Chao-Ming Cheng *
* Department of Psychology *
* Catholic FuJen University & National Taiwan University *
* Oct 03 1998 *
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General Information

Experimental Design - ABS

No. of Variables (Including Ss) 3

No. of Between-Ss Variables : 0

No. of Within-Ss Variables 12

Data File Name . exp3ra.txt
Output Device I exp3ra_o.txt
Within Subject Variable 1 A

Within Subject Variable 2 B

Subject Variable S

Levels of A : 3 ( , , )
Levels of B : 2 (estimate of R, estimate of A)
Levels of S : 36

Significant criterion : 0.050000

No transformation !
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Cell Means & SD
Means of Al :
Al= 0.110[ 0.115] A2= 0.086[ 0.096]
A3= 0.124[ 0.121]
Means of Bj :

B1= 0.154[ 0.131] B2= 0.060[ 0.062]
Means of AiBj :
A1B1= 0.173[ 0.124] A1B2= 0.047[ 0.055]
A2B1= 0.096[ 0.121] A2B2= 0.077[ 0.061]
A3B1= 0.193[ 0.126] A3B2= 0.056[ 0.065]

Summary Table of ANOVA

Source SS df MS F P
S 0.298 35 0.009

0.053 2 0.027 6.194 0.0033
AS 0.300 70 0.004
B 0.476 1 0.476 17.482 0.0002
BS 0.954 35 0.027
AB 0.153 2 0.077 10.724  0.0001
ABS 0.501 70 0.007
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Tukey Test for A.

* stand for difference between row-mean & column-mean
come up 0.05 significant level.

** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.004290
df(MsError) =70
# of groups =3
cell in group =72
q(70,3).05 = 3.393333
q(70,3).01 = 4.266667
C(.05) = 0.026194
C(.01) = 0.032935
Label | Al A2 A3
Means | 0.110 0.086 0.124
Al |
A2 |
A3 | **
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Trend Analysis for A.
Condition 1 : Value=1.000000 Mean=0.109875
Condition 2 : Value=2.000000 Mean=0.086347
Condition 3 : Value=3.000000 Mean=0.124417

Linear Contrast:
C[1]= -1.00000
C[2]= 0.00000
C[3]= 1.00000

Quadratic Contrast:
C[1]= 0.33333
C[2]= -0.66667
C[3]= 0.33333

Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.008 1 0.008 1.774 0.1899
Quadratic Trend 0.046 1 0.046 10.613 0.0017
ErrTerm 0.300 70 0.004
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Simple Simple-Main and Interaction Effects of AB.

Source SS df MS F P
Error for B[A(1)] 1.454 105 0.014
B[A(D)] 0.286 0.286 20.657 0.0000
B[A(2)] 0.006 0.006 0.460 0.4993
B[A(3)] 0.337 1 0.337 24350 0.0000
Error for A[B(J)] 0.801 140 0.006
A[B(D] 0.189 2 0.095 16.551 0.0000
A[B(2)] 0.017 2 0.009 1.500 0.2380

Tukey Test for A[B(1)]-

* stand for difference between row-mean & column-mean
come up 0.05 significant level.

** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.005722
df(MsError) = 140

# of groups =3

cell in group = 36
q(140,3).05 = 3.360000
q(140,3).01 = 4.200000
C(.05) = 0.042359
C(.01) = 0.052949

-60 -



2003/12/3

Label | A1B1 A2B1 A3B1
Means | 0.173 0.096 0.193
A1B1 | o
A2B1 |
A3B1 | o

Tukey Test for A[B(1)]-
Condition 1 : Value=1.000000 Mean=0.172917
Condition 2 : Value=2.000000 Mean=0.095750
Condition 3 : Value=3.000000 Mean=0.192861

Linear Contrast:
C[1]= -1.00000
C[2]= 0.00000
C[3]= 1.00000

Quadratic Contrast:
C[1]= 0.33333
C[2]= -0.66667
C[3]= 0.33333
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Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.007 1 0.007 1.251 0.2658
Quadratic Trend 0.182 1 0.182 31.851 0.0000
ErrTerm 0.801 140 0.006
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1.
exclusion 0.030 0.098 0.058 0.060
inclusion 0.244 0.228 0.280 0.085
2.
exclusion | inclusion | exclusion | inclusion | exclusion | inclusion | exclusion | inclusion
1 0.222 0.056 0.278 0.333 0.222 0.111 0.056 0.056
2 0.000 0.167 0.222 0.222 0.056 0.389 0.056 0.074
3 0.000 0.167 0.000 0.222 0.000 0.167 0.019 0.019
4 0.000 0.222 0.111 0.333 0.056 0.167 0.074 0.037
5 0.000 0.056 0.167 0.000 0.056 0.389 0.093 0.093
6 0.000 0.278 0.111 0.222 0.056 0.167 0.074 0.148
7 0.000 0.167 0.111 0.222 0.000 0.222 0.056 0.130
8 0.000 0.278 0.056 0.056 0.056 0.111 0.111 0.074
9 0.000 0.389 0.000 0.389 0.000 0.389 0.000 0.037
10 0.056 0.389 0.167 0.333 0.000 0.278 0.074|  0.093
11 0.056 0.167 0.222 0.222 0.278 0.333 0.037 0.037
12 0.000 0.333 0.056 0.167 0.056 0.333 0.019 0.037
13 0.000 0.389 0.111 0.222 0.000 0.389 0.056 0.056
14 0.056 0.389 0.000 0.333 0.056 0.389 0.111 0.074
15 0.000 0.167 0.278 0.222 0.000 0.222 0.037 0.093
16 0.000 0.222 0.000 0.222 0.000 0.278 0.093 0.093
17 0.000 0.444 0.000 0.333 0.000 0.444 0.056 0.130
18 0.056 0.222 0.167 0.278 0.111 0.333 0.019 0.074
19 0.000 0.389 0.056 0.167 0.000 0.333 0.019 0.093
20 0.000 0.222 0.000 0.333 0.000 0.333 0.019 0.093
21 0.167 0.000 0.333 0.056 0.389 0.111 0.019 0.056
22 0.000 0.167 0.056 0.278 0.000 0.444 0.093 0.148
23 0.000 0.111 0.056 0.167 0.056 0.222 0.074 0.111
24 0.333 0.000 0.333 0.222 0.167 0.111 0.056 0.167
25 0.000 0.333 0.056 0.222 0.000 0.389 0.074 0.093
26 0.056 0.222 0.056 0.167 0.000 0.444 0.111 0.111
27 0.000 0.333 0.056 0.444 0.056 0.167 0.037 0.037
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28 0.000] 0.222 0.000[ 0.278 0.056| 0.222 0.056| 0.019
29 0.056] 0.278 0.056] 0.389 0.056 0.333 0.093] 0.056
30 0.000[ 0.167 0.167] 0.222 0.056]  0.056 0.093] 0.111
31 0.000[ 0.111 0.111] 0.167 0.111] 0.111 0.111]  0.093
32 0.222|  0.056 0.500{  0.000 0.278]  0.056 0.111f 0.167
33 0.000f 0.278 0.000f 0.333 0.056  0.333 0.037{  0.093
34 0.111] 0.278 0.056]  0.222 0.222| 0.222 0.037{  0.130
35 0.000f 0.278 0.056 0.111 0.000f 0.278 0.037{  0.037
36 0.000; 0.222 0.000f 0.333 0.000f  0.389 0.111f 0.093
37 0.000f 0.333 0.056] 0.278 0.000  0.444 0.074| 0.074
38 0.000[ 0.278 0.111]  0.000 0.111] 0.333 0.111]  0.056
39 0.000[  0.389 0.000[ 0.111 0.000{ 0.389 0.056 0.130
40 0.000[ 0.111 0.000] 0.222 0.056| 0.444 0.056]  0.093
41 0.000[  0.389 0111 0.222 0.000{  0.389 0.019] 0.074
42 0.000[ 0.333 0.000[ 0.278 0.000f 0.333 0.056|  0.056
43 0.000[ 0.333 0.167] 0.111 0.000{ 0.222 0.056| 0.074
44 0.000  0.389 0.000;  0.222 0.000f 0.167 0.074|  0.056
45 0.000f 0.278 0.000f 0.333 0.000f 0.278 0.019] 0.130
46 0.000; 0.222 0.056] 0.278 0.000f 0.222 0.037{ 0.111
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* General ANOVA & Trend Analysis Program *
* Vesion 5.0 *
* Hsue_Chich Chen & Chao-Ming Cheng *
* Department of Psychology *
* Catholic FuJen University & National Taiwan University *
* Oct 03 1998 *

R R R R R R R R R R R R A AR R R R R R R R AR AR R R R R R R R R R AR R R R R R R R R R R R R R R AR R R R R R R R R R R R R R R R R R R

General Information

Experimental Design - ABS

No. of Variables (Including Ss) 3

No. of Between-Ss Variables -0

No. of Within-Ss Variables 12

Data File Name I exps.txt
Output Device I expd_o.txt

Within Subject Variable 1 : A

Within Subject Variable 2 : B

Subject Variable :

Levels of A - 4 ( , , , )
Levels of B : 2 (exclusion, inclusion)

Levels of S : 46

Significant criterion : 0.050000

No transformation !
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Cell Means & SD

Means of Al :

Al= 0.137[ 0.142] A2= 0.163[ 0.125]
A3= 0.169[ 0.151] Ad= 0.073[ 0.037]
Means of Bj :
B1= 0.062[ 0.084] B2= 0.209[ 0.122]
Means of AiBj :
A1B1= 0.030[ 0.070] A1B2= 0.244[ 0.113]
A2B1= 0.098[ 0.109] A2B2= 0.228[ 0.103]
A3B1= 0.058[ 0.088] A3B2= 0.280[ 0.114]
A4B1= 0.061[ 0.032] A4B2= 0.085[ 0.037]
Summary Table of ANOVA
Source SS df MS F P
S 0.224 45 0.005
A 0.535 3 0.178 37.470 0.0000
AS 0.643 135 0.005
B 2.006 1 2.006 80.783 0.0000
BS 1.117 45 0.025
AB 0.583 3 0.194 28.097 0.0000
ABS 0.934 135 0.007
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Tukey Test for A.
* stand for difference between row-mean & column-mean
come up 0.05 significant level.
** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.004760

df(MsError) = 135

# of groups =4

cell in group = 92

q(135,4).05 = 3.680000

q(135,4).01 = 4.500000

C(.05) = 0.026470

C(.01) = 0.032368

Label | Al A2 A3 A4
Means | 0.137 0.163 0.169 0.073
Al I *%
A2 I *%
A3 I * *%
A4 |
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Trend Analysis for A.
Condition 1 : Value=1.000000 Mean=0.137120
Condition 2 : Value=2.000000 Mean=0.163076
Condition 3 : Value=3.000000 Mean=0.169120
Condition 4 : Value=4.000000 Mean=0.072870

Linear Contrast:
C[1]= -1.50000
C[2]= -0.50000
C[3]= 0.50000
C[4]= 1.50000

Quadratic Contrast:
C[1]= 1.00000
C[2]= -1.00000
C[3]= -1.00000
C[4]= 1.00000

Cubic Contrast:
C[1]= -0.30000

C[2]= 0.90000

C[3]= -0.90000

C[4]= 0.30000

Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.160 1 0.160 33.688 0.0000
Quadratic Trend 0.343 1 0.343 72.163 0.0000
Cubic Trend 0.031 1 0.031 6.559 0.0115
ErrTerm 0.643 135 0.005
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Simple Simple-Main and Interaction Effects of AB.

92.226
34.236
99.492

1.218

0.0000
0.0000
0.0000
0.2717

Source SS df MS

Error for B[A(1)] 2.051 180 0.011
B[A(D)] 1.051 1.051
B[A(2)] 0.390 0.390
B[A(3)] 1.134 1.134
B[A(4)] 0.014 0.014

Error for A[B(J)] 1.577 270 0.006
A[B(D] 0.107 3 0.036
A[B(2)] 1.012 3 0.337

Tukey Test for A[B(1)]-

* stand for difference between row-mean & column-mean
come up 0.05 significant level.

** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.005839
df(MsError) = 270

# of groups =4

cell in group = 46
q(270,4).05 = 3.630000
q(270,4).01 = 4.400000
C(.05) = 0.040898
C(.01) = 0.049574
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Label |
Means |

A1B1 A2B1 A3B1
0.030 0.098 0.058

A4B1
0.061

**

Tukey Test for A[B(1)]-

Condition 1 :
Condition 2 :
Condition 3 :
Condition 4 :

Value=1.000000
Value=2.000000
Value=3.000000
Value=4.000000

Linear Contrast:

C[1]= -1.50000
C[2]= -0.50000
C[3]= 0.50000
C[4]= 1.50000
Quadratic Contrast:
C[1]= 1.00000
C[2]= -1.00000
C[3]= -1.00000
C[4]= 1.00000
Cubic Contrast:
C[1]= -0.30000
C[2]= 0.90000
C[3]= -0.90000
C[4]= 0.30000

Mean=0.030239
Mean=0.097957
Mean=0.058109
Mean=0.060587
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Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.006 1 0.006 1.032 0.3107
Quadratic Trend 0.049 1 0.049 8.382 0.0041
Cubic Trend 0.052 1 0.052 8.850 0.0032
ErrTerm 1.577 270 0.006

Tukey Test for A[B(2)]-

* stand for difference between row-mean & column-mean
come up 0.05 significant level.

** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.005839
df(MsError) = 270

# of groups =4

cell in group = 46
q(270,4).05 = 3.630000
q(270,4).01 = 4.400000
C(.05) = 0.040898
C(.01) = 0.049574

-73-



2003/12/3

Label |
Means |

A1B2 A2B2 A3B2
0.244 0.228 0.280

A4B2
0.085

I
I
I *%*
I

Tukey Test for A[B(2)].

Condition 1 :
Condition 2 :
Condition 3 :
Condition 4 :

Value=1.000000
Value=2.000000
Value=3.000000
Value=4.000000

Linear Contrast:

C[1]= -1.50000
C[2]= -0.50000
C[3]= 0.50000
C[4]= 1.50000
Quadratic Contrast:
C[1]= 1.00000
C[2]= -1.00000
C[3]= -1.00000
C[4]= 1.00000
Cubic Contrast:
C[1]= -0.30000
C[2]= 0.90000
C[3]= -0.90000
C[4]= 0.30000

Mean=0.244000
Mean=0.228196
Mean=0.280130
Mean=0.085152
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Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.415 1 0.415 71.016 0.0000
Quadratic Trend 0.369 1 0.369 63.226  0.0000
Cubic Trend 0.228 1 0.228 38.998 0.0000
ErrTerm 1.577 270 0.006
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Estimate of R and A

1.
Estimate of R | 0.214 0.130 0.222
Estimate of A | 0.029 0.098 0.061
2.
R A R R A

1 -0.167 0.190 0.056 0.294 -0.111 0.200

2 0.167 0.000 0.000 0.222 0.333 0.083

3 0.167 0.000 0.222 0.000 0.167 0.000

4 0.222 0.000 0.222 0.143 0.111 0.063

5 0.056 0.000 -0.167 0.143 0.333 0.083

6 0.278 0.000 0.111 0.125 0.111 0.063

7 0.167 0.000 0.111 0.125 0.222 0.000

8 0.278 0.000 0.000 0.056 0.056 0.059

9 0.389 0.000 0.389 0.000 0.389 0.000
10 0.333 0.083 0.167 0.200 0.278 0.000
11 0.111 0.063 0.000 0.222 0.056 0.294
12 0.333 0.000 0.111 0.063 0.278 0.077
13 0.389 0.000 0.111 0.125 0.389 0.000
14 0.333 0.083 0.333 0.000 0.333 0.083
15 0.167 0.000 -0.056 0.263 0.222 0.000
16 0.222 0.000 0.222 0.000 0.278 0.000
17 0.444 0.000 0.333 0.000 0.444 0.000
18 0.167 0.067 0.111 0.188 0.222 0.143
19 0.389 0.000 0.111 0.063 0.333 0.000
20 0.222 0.000 0.333 0.000 0.333 0.000
21 -0.167 0.143 -0.278 0.261 -0.278 0.304
22 0.167 0.000 0.222 0.071 0.444 0.000
23 0.111 0.000 0.111 0.063 0.167 0.067
24 -0.333 0.250 -0.111 0.300 -0.056 0.158
25 0.333 0.000 0.167 0.067 0.389 0.000
26 0.167 0.067 0.111 0.063 0.444 0.000
27 0.333 0.000 0.389 0.091 0.111 0.063
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28 0.222 0.000 0.278 0.000 0.167 0.067
29 0.222 0.071 0.333 0.083 0.278 0.077
30 0.167 0.000 0.056 0.176 0.000 0.056
31 0.111 0.000 0.056 0.118 0.000 0.111
32 -0.167 0.190 -0.500 0.333 -0.222 0.227
33 0.278 0.000 0.333 0.000 0.278 0.077
34 0.167 0.133 0.167 0.067 0.000 0.222
35 0.278 0.000 0.056 0.059 0.278 0.000
36 0.222 0.000 0.333 0.000 0.389 0.000
37 0.333 0.000 0.222 0.071 0.444 0.000
38 0.278 0.000 -0.111 0.100 0.222 0.143
39 0.389 0.000 0.111 0.000 0.389 0.000
40 0.111 0.000 0.222 0.000 0.389 0.091
41 0.389 0.000 0.111 0.125 0.389 0.000
42 0.333 0.000 0.278 0.000 0.333 0.000
43 0.333 0.000 -0.056 0.158 0.222 0.000
44 0.389 0.000 0.222 0.000 0.167 0.000
45 0.278 0.000 0.333 0.000 0.278 0.000
46 0.222 0.000 0.222 0.071 0.222 0.000
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* General ANOVA & Trend Analysis Program *
* Vesion 5.0 *
* Hsue_Chich Chen & Chao-Ming Cheng *
* Department of Psychology *
* Catholic FuJen University & National Taiwan University *
* Oct 03 1998 *

R R R R R R R R R R R R A AR R R R R R R R AR AR R R R R R R R R R AR R R R R R R R R R R R R R R AR R R R R R R R R R R R R R R R R R R

General Information

Experimental Design - ABS

No. of Variables (Including Ss) 3

No. of Between-Ss Variables -0

No. of Within-Ss Variables 12

Data File Name I expdra.txt
Output Device I expdra_o.txt

Within Subject Variable 1 : A

Within Subject Variable 2 : B

Subject Variable :

Levels of A - 3 ( , , )
Levels of B : 2 (estimate of R, estimate of A)
Levels of S : 46

Significant criterion : 0.050000

No transformation !
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Cell Means & SD
Means of Al :
Al= 0.121[ 0.153] A2= 0.114[ 0.143]
A3= 0.142[ 0.157]
Means of Bj :

B1= 0.189[ 0.176] B2= 0.063[ 0.084]
Means of AiBj :
A1B1= 0.214[ 0.161] A1B2= 0.029[ 0.060]
A2B1= 0.130[ 0.178] A2B2= 0.098[ 0.093]
A3B1= 0.222[ 0.173] A3B2= 0.061[ 0.081]

Summary Table of ANOVA

Source SS df MS F P
S 0.615 45 0.014

0.037 2 0.019 3.859 0.0247
AS 0.434 90 0.005
B 1.096 1 1.096 16.317 0.0002
BS 3.022 45 0.067
AB 0.309 2 0.155 16.971  0.0000
ABS 0.820 90 0.009
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Tukey Test for A.

* stand for difference between row-mean & column-mean
come up 0.05 significant level.

** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.004827
df(MsError) =90
# of groups =3
cell in group = 92
q(90,3).05 = 3.380000
q(90,3).01 = 4.240000
C(.05) = 0.024482
C(.01) = 0.030711
Label | Al A2 A3
Means | 0.121 0.114 0.142
Al |
A2 |
A3 | *
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Trend Analysis for A.
Condition 1 : Value=1.000000 Mean=0.121446
Condition 2 : Value=2.000000 Mean=0.114196
Condition 3 : Value=3.000000 Mean=0.141652

Linear Contrast:
C[1]= -1.00000
C[2]= 0.00000
C[3]= 1.00000

Quadratic Contrast:
C[1]= 0.33333
C[2]= -0.66667
C[3]= 0.33333

Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.019 1 0.019 3.891 0.0513
Quadratic Trend 0.018 1 0.018 3.827 0.0532
ErrTerm 0.434 90 0.005
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Simple Simple-Main and Interaction Effects of AB.

Source SS df MS F P
Error for B[A(1)] 3.842 135 0.028
B[A(D)] 0.784 0.784 27.551 0.0000
B[A(2)] 0.024 0.024 0.846 0.3595
B[A(3)] 0.597 1 0.597 20.972 0.0000
Error for A[B(J)] 1.254 180 0.007
A[B(D] 0.237 2 0.119 17.010 0.0000
A[B(2)] 0.109 2 0.055 7.847 0.0005

Tukey Test for A[B(1)]-

* stand for difference between row-mean & column-mean
come up 0.05 significant level.

** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.006967
df(MsError) = 180

# of groups =3

cell in group = 46
q(180,3).05 = 3.360000
q(180,3).01 = 4.200000
C(.05) = 0.041351
C(.01) = 0.051688
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Label | A1B1 A2B1 A3B1
Means | 0.214 0.130 0.222
A1B1 | o
A2B1 |
A3B1 | o

Tukey Test for A[B(1)]-
Condition 1 : Value=1.000000 Mean=0.213761
Condition 2 : Value=2.000000 Mean=0.130370
Condition 3 : Value=3.000000 Mean=0.222196

Linear Contrast:
C[1]= -1.00000
C[2]= 0.00000
C[3]= 1.00000

Quadratic Contrast:
C[1]= 0.33333
C[2]= -0.66667
C[3]= 0.33333
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Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.002 1 0.002 0.235 0.6285
Quadratic Trend 0.235 1 0.235 33.785 0.0000
ErrTerm 1.254 180 0.007

Tukey Test for A[B(2)]-

* stand for difference between row-mean & column-mean
come up 0.05 significant level.

** stand for difference between row-mean & column-mean
come up 0.01 significant level.

MsError = 0.006967
df(MsError) = 180
# of groups =3
cell in group = 46
q(180,3).05 = 3.360000
q(180,3).01 = 4.200000
C(.05) = 0.041351
C(.01) = 0.051688
Label | A1B2 A2B2 A3B2
Means | 0.029 0.098 0.061
A1B2 |
A2B2 | **
A3B2 |
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Tukey Test for A[B(2)]-
Condition 1 : Value=1.000000 Mean=0.029130
Condition 2 : Value=2.000000 Mean=0.098022
Condition 3 : Value=3.000000 Mean=0.061109

Linear Contrast:
C[1]= -1.00000
C[2]= 0.00000
C[3]= 1.00000

Quadratic Contrast:
C[1]= 0.33333
C[2]= -0.66667
C[3]= 0.33333

Trend Analysis ANOVA Summary Table

Source SS df MS F P
Linear Trend 0.024 1 0.024 3.376  0.0672
Quadratic Trend 0.086 1 0.086 12.319 0.0006
ErrTerm 1.254 180 0.007
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